
PART-III 

LuSlrflUJG\l / BIOLOGY

( �uS)W LD!!)IDJLD �ffi.J$1Q) ru� / Tamil & English Versions) 
CJBIJLD : 3 LD6"®rl ] [ GL.Orr�� LO�uQu6mrr"8:i6TT : 150 [Maximum Marks : 150 Time Allowed : 3 Hours ] 
�!6161.fmlJ: (1) ��Gm"�� @51Gm"rr<E8:i(_§LD 8=rf1wrr8:i u�rurrcfil �rom�rr 6T"6nTU��Gm"8=rf1urrrr��a; GclErrGTTGTT6Ljl.O. �8=ffi-WU�@S)� @5GIDJPu51 e3uLS1� ��.(!)$

mm 8:i rr60ofl u u rrmrf1 LLD �LGm"t.q..w rr 8:i� Q � rf1@S1 <E8:i6LJ LO.
(2) )BQ)LO �6\)Q)� 8:i@Ul.l �L.Ou51�� LOL(b)GL.D 6rQ:9.�(olJ�.(D�LJ UlLJ6nTU(b)��

aru6mrr"@.LO. ULffi.J8:iGTT ru�i;r��!D@5 Glw6nrilGD ww�u@��6Ljl.O.
Instructions : (1) Check the question pg.per for fairness of printing. lf th@re is any lack of fairness, Worn,. the I-{911 Supervisor immediately. 

(2) Us�- Black or Blue ink t9 writ� a:nd pencil to draw diagrams.
®�L.14 : LI®� - I �rr�1JGTilllJ�rot1..gb, u�j - II Gtilrulliltfo.J�ruu..tLO ����6ml 6@� L�� rr61fl@ � 6n'> LllJ G1fl ��6)..1 LO. 
Note: Candidate shguld answer Part - I (Bota!l,y) & Part - ll (Zoology) in separate 

answer-books. 

W®I - I (�IT6l.llJ61S'ltu6\)) / PART - I (BOTANY):­
( IB�(JQumr8:iW : 75) / (Marks·: 75) 

Qltfl� - � / SECflQN - A

®�l.14 : (i) ��6lfTi� 61S161ITrr<E8:i�<E@>LO 61Sl�Lu...JG1fl<E8:i6LJLO. 14x1=14 

Note: 

(ii) e=rrlwJT,«rr GnlQ)L�llJ� G�rrfeG�®�� 6r(!9�8:i.
(i) Answer all th� questions.
(ii) Choose and write the correct answer.
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1. @�6DLULq-8= Qs=�6D8.>61T @��LUITGm" (Y)L8.>6TTrra; LDITp5lLI...j@6TT �IT(@JIJill :

(�) �:!/oC�urrrnSlLUrr LJQ)Qa=rflLDrr (�) �o0oGurrri-LS'lLUrr �(!!jffi8.>G3TTGTf1 

(@) �o0oGurrri-LS'lLUrr qi,6mrrlcj-Ca;rr!Jill (r-r-) �o°oCurrirLS'lLUrr GiDLS'l6D601GL601Gro 
The stipules are modified into a pair of spines in : 
( a) Euphorbia pulcherrima (b) Euphorbia tirucalli
(c) Euphorbia antiquorum (d) Euphorbia splendens

2. DNA (Y)6Dffiffi1.!}5l6N �LLill :

(�)18A (�)20A 
The width of DNA molecule is: 
(a) 1s A (b) 20 A

(@) 34 A

(c) 34 A

3. @�6D���61T {Y)@(@J��� �6mrr(b'\Gl..l§j :

( � ) qi,ffiGrol 6N (qi,) � u �601601 

(@) �aLCLrr�a;6nrl6N ( r-r-) �u��a; �L.6l6DLD 
Closure of stomata is caused by : 
(a) Auxin
(c) Cytokinin

(b) Gibberellin
(d) Abscisic acid

4. @®Qa=rrd) GluLUifl@ (Y)�!D�lLI �!}Sl(Y-)5.iLIU@��lLIGl..JJT :

A 

( �) a;C1Jrr6Doo 60l6NCGm"lUOO ( qi,) 1Srreoiuuri-(1'l urr�6N 

(@) S:IT C�rrs=u LITQ)L6N �-ua;a:;,r ( r-r-) �LrrGUo°oLJ 6fffiJ61TIT 
The botanist who introduced binomial system is : 
(a) Carolus Linnaeus (b) Gaspard Bauhin
(c) Sir Joseph Dalton Hooker (d) Adolf Engler

(�) 34 (�)36 (@) 84 

The number of families found in class dicotyledonae : 
(a) 34 (b) 36 (c) 84

(r-r-) 35 A

(d) 35 A

(FF) 165 

(d) 165
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6. LDL®6mITGmITl �rn@Jf)��ti)® �® eor©��cSa;rrL© :

( �) Ll)OOry-rr ( �) @J rr�Lrr 

An example for saprophytic angiosperm : 

(a) Drosera

( c) Monotropa
(b) Vanda

(d) Cuscuta

7. U(!!j��u5l6D lD@jL a;w6o)Q)6o)ll.J �6mIT(b)U�WJLO urrcSLe.Jthurr

( �) �cSCrrrru rrcSt.e..rfl lLI LO lil-uS10°0CuM lLI6mGiu

8. 

( �) CorGiuG6lDrf1MlLirr C8'rr6o>m

(@) GuM6DQ)GTU �rf1(§MUJ6m51Giu

( r-r-) GiuL...Qf)uGLrr6o>LD6TDGru 6o)�cSCry-rr<oiuGa;rrtS1a;Giu 

The bacterium which produces crown gall disease in cotton: 

(a) Agrobacterium tumefaciens

(b) Escherichia Coli

( c) Bacillus thuringiensis

( d) Streptomyces hygroscopicus

8J@LOL5lGU a;rr�uuGho �!D6o>!J)LDUJ ®CrrrrCLDrrG<!FrrLO : 

(�) 21 (�)23 (@) 24 

Haploid set of chromosome in sugarcane is: 

(a) 21 (b) 23 (c) 24

( r-r-) 40

(d) 40

9. � QJ Q @J rr ® ® � cS Ca; rr Giu (Y) m cS Bin. .Q)l LO (Y)@ 6o> LD lLI rr a; · � cS Grol � G 6ITT !D !D LO
�6o>LlLJ LO Gurr� GJD O-lil-lU rra; �6TTuQ LJ rf@ffi u rr<oiuu rfla;ry-Gffl ��6ITTrf6\) $)6o)L8;$l6m"!D
A TP-u5l 6irr Coroo615Ml 8'6o>a; :

(�) 2 (@) 6'

During complete oxidation of one glucose molecule· the number of ATP molecules
obtained by direct substrate level phosphorylation is:

(a) 2 (b) 4 (c) 6 (d) 38
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10. �� Ge=ru Lj!J�LD GT6ITT!I) Ge=rrru .. �!!S)(!J)ffil.lU(bl��LJULL �61ITT(8 :
(�) 1978 (�) 1966 (@) 1975 (r-r-). 1930 
The term Single Cell Protein was coined in the year :
(a) 1978 (b) 1966 (c) 1975

( �) �a;rrG01urr @�tq.a;rr 

(@) Me:mi @)6llrTLIJrrffiJ@)6Drrrfl<oiu 
Binomial of vilvum is 
(a) Acalypha indica
( c) Cissus quadrangularis

( �) <o;r $) ru LO rrfru51 ru rr Giu 

( r-r-) 6o> LDGLDrr e=rr �tq.a;rr 

(b) Aegle marmelos
(d) Mimosa pudica

(d) 1930

12. ru ff 6o> W LO!!) WJ LD a; ru ru rr 6o> W � ff 6ll lJ ffiJ a; GTT1 6m @ 6o> ru 8:i a; rr LO LJ a; GTTI ru a; ff 6m-u u (8 LO
JDL<S=��IJ 6Ulq-6ll UrTIJ6m6o>ffiLOff Ge:6U8JGTT :

(�) <oiuGLruGruL Uff!J�6o>ffil..Dff (�) LjG(Jff8=�6o)d,I..Dff

(@) <oJIJ�6o>a;LOrr ( r-r-) ®GGrTrrlJ�6o>8JLDff
The type of tissue present in the petioles of banana and canna is
(a) stellate parenchyma (b) prosenchyma
(c) aerenchyma (d) chlorenchyma

13. 6o>urfl��r,nb GT6m'!I) Gurr@ITT L51rfl�Q�@8:ia;uu(b)Lb �ff6ll!JLD :

(�) $16o>!Je=rrfe�LDLD (�) M�Ga;ff6mff 

(@) Ga;�!Jrr��<oiu (r-r-) Ga;rrrurr JBlLtq.Lrr 
Pyrethrum is extracted from : 
(a) Chrysanthemum
(c) Catharanthus

(b) Cinchona
(d) Cola nitida

14. LJ !D�G� rr @)J 8:i@) u �ruff a; � ff 6ll lJ ffiJ 8.,GTil 6m' �6l5lrr(8 LO JD IDJ LO Gru rr 8,GTI" @IJ 6!5lITLITLO jB16o> ru
ruGrTrr5�UJ6o>L�LD Gurr@� urr�8JITULJ� �arruffa; Gs:UJrou(b)GtJ� :

(�) QurflQui-Lb (�) LjGIJrrLGLffGLrrLD

(@) �G!JrrGa;tbtSlUJtb ( r-r-) 6o>IJGs=rrQLfru51<oiu
The protective tissue that supplants the epidermis in the roots and stems that undergo
secondary growth :
(a) Periderm (b) Protoderm

( c) Procambium ( d) Rhizodermis
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t.Slrrl614 - �/SECTION - B 

7x3=21 

Note: Answer any seven questions. 

Write any three merits of Bentham and Hooker's system of classification of plants. 

16. Gt9= rr Q) rrG6m 51 ® (bh.o u � � 6m" LD ®��GU ® � (Y) 6ln L LU (Y) 6m"IDJ � rrGU IJTfi.J BJ GIT) 6m" @®
Q a:rr!i) Qu LU rr16ln 6m 6r@� BJ.

Mention the binomials of any three medicinal plants of Solanaceae.

What is an isobilateral leaf ? Give an example. 

18. l.cj-lJ"cS£@BJGIT1ru BJrr�uu@LD GJG�®JLD (Y)6m"IDJ GU6lnffiLUrr6m @IJ"�LrrLD Gla:ruarGUrr
� l.cj-U � 8j 6l5) GTT u LLD G)J 6l5) IJ"LU � LO.

Draw any three types of secondary wall thickenings in tracheids.

Draw the structure of chromosome and label its parts. 

Mention the names of two bacteria used for SCP production. 

Write any three differences between photo respiration and dark respiration. 

[ �®LJ�ffi / Tum over 
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22. Glu6b"TGLrroo urrooGuL (o)J���L��6ITT GJG�®JLD (Y)6ITTIDJ (Y)ffi$)tLJ��GLl�6<5)�
(of(_!:Q§j8J.
Write any three significance of pentose phosphate pathway.

What is devernalization ? 

24. � ... Jl51 rr u Q u rr ® m Q a; rrm 6o> m eor 6m!J) rr Q) (of 6ITT GITT ?

Define bio-piracy.

i.SlrrlQ..j - �/SECTION - C 

@!!51 · 4 : ( i) 6TEiln6lJ �UJ WJ LO .ffi rr6irr ® @S1 GITTrr a;a; (_§ffi@) @S1 � LlLJ Grfl a;a; Gl.J LD. @S1 GITTrr eor � 

Not 

25-6.»@j ffi6m"tq.uurre; @Sl�LUJGTT1a;a; GG)J�(bhb. 4x5=20 

( ii) G�� (o)J lLi rr {N @ uii.J a;Grfl Q) u LLD (o)J 6o> 1J a;.

(i) Answer any four questions including Question No. 25 which is compulsory.

(ii) Draw diagrams wherever necessary.

Bring out the significance of herbarium. 

26. @®@Sl���Q)� �ff(o)JIJ� ���6ITT G)JrrOO(§rorrrr 8JfD�!D�lU �@GlSl���Q)� �ff(o)JIJ�

� oo�6br (o)J rroo ® GD rrrr a; ,ti)� !D u516151@Jt§J G(o)J IDJ u ®��a;.
Differentiate the vascular bundles of dicot stem from that of monocot stem.

What is crossing over? Write,the significance of crossing over. 
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28. � w ru ��6lITLJ Q u !D !D � rf@J IJ"ffil 8'6111 � ffi�ITT ltQ ffiff Q)f01 GT� ITU Ll1E� !D 6m" u !D !]51
8r(!9ffiffi lD rr ffi GT@� ffi.
Give a brief account of herbicide resistance in transgenic plants.

2 9. er W !D cf1 LD !DID! LO er W !D cf1 u.51 GD rr � 6111 u rr oo u rfl ffi 1J � r6J ffi (§ lt cE1 � LG w �-ITT ITT 
G@J ID! u rr ® ffi� ITT GT@� ffi. 
Write the differences between cyclic and non-cyclic photophosphorylation. 

30. �rr@JIJ1E�6m" �<oir@JrrLL @JITT1Te:cf1�w �m68(B\ Q5w@J�!!)ffirT6lIT qbW�@J LJL1E�L6m"
@S)6)Jrfl.
Explain the experiment to measure the actual longitudinal growth of plant with
diagram.

31. �rf6)JIJUUu.511TLJ GLJ@ffiffi1E�6m" @)!]5)8;Gffirr<oTTffi6TT G,TG�@ILD mJt��6lIT GT@�ffi.
Write any five aims of plant breeding.

L.SlrrlQ.f - r-r- / SECTION - D 

5638 

®� u LI : (i) 6T6lfl6l.lCILJ � ili @ irmrr@ @Sl 6l5Trr 8;8, <§8.i® @S1 � Lw 61118.iffi� LO. 2x10=20 

Note: 

(ii) G��QjllJ [f6l5f @Lf6.lffi6111Q) ULU) Q.l�IJffi.

(i) Answer any two questions.

(ii) Draw diagrams wherever necessary.

3 2. u51 � oo rr u rr IJ t.q.. <onSl w rr ffi rr @S1 � 6lIT ffi � GD e: Q 6 rr !D ffi m rr ru @S16)J rfl . LD GD rfl 6m" 6)J 6ID 1J u L LO 
6)J 6n) IJ]t� lD GD rfl 6m" 6)J rrw u rrL Lq-6ID 6nT GT@� 8,. 

Describe Musa paradisiaca in technical terms. Draw floral diagram and write floral 
formula. 

3 3. 6)J rr oo @5 GD rr IT � 8r1E Q � rf@5 LJ Lj u !I) p5l u Lrfi.J ffi (§ L6m" 6lSl 6)J rfl . 
Describe the vascular tissue system with the help of diagrams. 

[ �®LJ Ljffi / Turn over · 
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34 �rrGL1r,r� �8T GLIGTTrrut.516irr CoJ"(]�®JLD u�� utu6irrffi�GTT GT@�ffi.

What are the outcomes of application of plant tissue culture? (Any ten)

$)r,ruiru 8T�dJcf1 GT6irrr:orr61) GT6irr6ITT ? $)r,ruoo 8T�dJcf1�lLJ 61SlGL1rfl.
( GlS1miffiLD �Q)Q)� GLIGmr,l"LJLLD)
What is Krebs Cycle ? Explain Krebs Cycle (Explanation or flow chart).

·

r

l .. 

® u4: (.?. (ii) 
N te : (i) 

LI@')� - II (@Sl6\)rfiJ&lUJoo) / PART - II (ZOOLOGY)

(LD�uQu�ffim : 75) / (Marks : 75)
i.5lrrl6lf - � / SECTION - A

�m61IT �� GlS16mrr iffi �a;® LO @51 � LlLJ Grfl iffiQ,J LO.
ifrrllllrr61IT 661�L�liJ� G�rrfeQ�(&)�� GT@�ffi.
Answer all the questi�rts. 

(ii) Choose and write the correct answer.

1. 6ln�uGurr urrJJrr��JJrrUJt.q-a:��rrQ) Gfjl)U@&i� :
( �) $) rfl L.t.q-60Tl®Lb ( �) Q LL.Lm1
('@) L61a;Gml t.q-wrr (r-F) £LGLrr<omlGU)
Hypo parathyroidism results in:-
(a) Cretinism 
·(c) Myxoedema

(b) Tetany
(d) Ketosis

16x1=16 

2. w60Tl� ®GJJrrGwrrGa:rn.o Q�rr®ULJ ru�IJUL��Q) 13-ru� @)Gr,rrrGwrrGa:rrLO �JB�

(@J�B;�w Ga:rrJj5��
( �) Q ll)L.Uf Qa:6irrL...rfla; GLl�ffi 
(�) �iGirrr Qa=6irrLrfli 61..l�ffi 

( �) cFfflTL.j GLOL.LIT Ga=6irrLrfl8.i -Gl.l�ffi
( r-r-) �GQ)rr Qa:6irrLrfli GLl�ffi

In human karyotype, _ 13th chromosome belongs to
( a) Metacentric type (b) Submetacentric type
(c) Acrocentric type (d) Teloceritric type
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3. 6rJ5� @J@8JU urrl)"LDUrflwLD �rrrr1.q- 6))6lfr Quir8> �ft)8>@j QPIJ"6mITUffLIT8J
�6'6)LDJ5�@8>@)LD ?

( qb) H.J. QP6U�rfl6ITT 8J@�� 

(@ ) 8�¢.> � IJ"L @SI 6'6)GTT61.t 

(r-r-) G.L. GfuGLLJL516irrGru 8J@��

Which process of inheritance is in violation of Hardy-Weinberg law? 

(a) Lamarckian process of inheritance

(b) H.J. Muller's concept

(c) Sewal Wright effect

(d) G.L. Stebbin's concept

( �) �LQ) ��L.OULJ �@ULJ 

(i) · Qa=ru �@r6.!®�Q) �@uLJ 

( �) �L!I) Qs:llJQ) �@ULJ 

( r-r-) @IJ"� @J�Bi �@uLJ 

Mention the type of immunological barrier to which skin belongs 

(a) anatomical barrier

( c) phag.o,cytic barrier

( �) aU)Q) a�rrGlSl(§GlSl 

(@) £� �8JITG\Sl(§Q)1 

(b) physiolqgical barrier

( d) Inflammatory barrier

. (�) l!flWJ (Y)�GTT 

(r-r-) QP�6ITT�U) @lU8>8JULJ(§� 

Which part of the human.brain aids in visual tracking of moving.objects.?

(a) superior colliculi

( c) inferior colliculi

(b) cerebellum

(d) primary motor area

5638 
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( cqb ) Q LJ rfl lLJ LO� LD 

(r-r-) 6rrfl!E1LDrr 

Which one of the following diseases is caused due to ozone depletion on human? 

(a) Huntington's chorea

(c) Plague

(b) Small pox

( d) Erythemia

7. ��GITT 0S1�mrurrc9; LDrrrrLj LD!I)IDJLD ruuSlrow GLDQ) LJ@j�c9;GTf)Q) 8;@JBGUU Lj6m8;G1T
G�rrGITTWJLD :

A 

( c§}j) GluIT��lLJCoTU LDGGUrflwrr 

(�) c9;(]u rr<!fl 5rrrr-Gc9;rrLDrr

( �) Glurr-�<!fllLJGiu c§}j�u511LJrr 

( r-r-) <!flo
0
oLS16UIGTU 

The production of scattered purplish lesions over the chest and abdomen are due to: 

(a) Pernicious malaria

(c) Kaposis sarcoma

( c§}j) Q (J"rrLrrLJ<!fl6br 

(@) aurrLLrTLJ<!flGITT 

(b) Pernicious anaemia

(d) Syphilis

( �) Gn)8;ffLLrru<!flGITT 

(r-r-) u51�ffi{]c9;rr - '-IIJ"�LO 

Protein substance present in cone cells of eye 

(a) Rhodopsin

( c) Photopsin

Grey Mullets are called as 

(a) "Vavva (b) Milk fish

(b) Scotopsin

(d) Muco-protein

(@) LDL�@J 

(c) Madavai (d) Koduva
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( �) �® LjGIJrrLGLrrG5rrrurr 

(@) �® Uff<!E�rf1UJLD 

Gastroenteritis is caused by 

(a) a protozoan

(c) a bacterium

11 

( �) �® �QJ(JQO 

(r-r-) �® ld,��5 

(b) a virus

(d) a fungus

11. �,o51UJ �ro� Gru�UJ<!E $��$�6TT<!E Q$rr6Wl"L ��$ �ro� $��· �6ln lJ<!E 6ln$UJrrro
GTLDCJ).6ln!D �!DJ!)�� ?

( �) �Q)��Q) �IJLDL.j�6D ( �) �L61rf1UJ� �rr�

Which is a better method to dispose large amount of water carrying relatively small 
amount of chemical wastes ? 

(a) Land filling method

( c) Surface impoundments

(b) Bio-remediation

( d) Incineration

12. �6b"T$6ff16b"T ('.Y)Q)<!E�W, G5LLI6DurrL�6bT Gurr� �JI)� �$W8=51 RNA-6lnru LJIJ�LDrr$
L.Dff.(DW,£1!!)� ?

(�) u�QUJ(b)��Q) (�) GL.Drr� QuLLirrLJLj

During the molecular functioning of genes, which process converts RNA into protein ? 

(a) Transcription

( c) Transfection

(b) Translation

( d) Transfusion

13. G JD rrlLI $ �83$ rr 6rrr £1 ® u5183 Q $ff GIT 6ln$6l5) LLI (Y)�6D (Y)�6016D � !)51 GlSl ��6U ir :

( �) @)Jfu.5l UITQOt_q-�rr ( qb) @IJITUITL GB;rr8= 

(@) 6\51QOLIT (r-r-) �QQ)8jl9=ff6WfLIT /o� 6TTI.Du51f6J 

The germ theory of diseases was established by 

(a) Louis Pasteur (b) Robert Koch

(c) Lister (d) Alexander Fleming

5638 

[ �®LJ l.j$ / Turn over 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


. I.
5638 

( �) s QP{tJQ) 7.5 Qa=. LO. 

(@) 3.5 C�N5G\) 5 Qa=.LO. 

12 

( �) 4 @{tjiD 6.5 Qa=.LO. 

( r-r-) 4.5 @{tJiD s Qa=. LO. 

The litter bed of pou�try housing has the thickness of : 
(a) 5 to 7.5 cm
(c) 3.5 to 5 cm

(b) 4 to 6.5 cm
(d) 4.5 to 5 cm

15 tSl Gm" 6l..l ® 6lJ 60T 6lJ rb IDJ GTT <or Jb {tj � Gm" ID! � LD UJ rr Giu � 6lIT1 UJ rr ffi1 i;r rr@S1 Giu cg �-rr � UJ 8:i 
(§6m"UU{b)��I.D @�fD 

( �) @S1rorr Gr@ilJt.bLSl�L�{tj�S:�UJ a;�rflUJ8:iffi��rb® �Lu(b\��{tjQ). 

( �)_@Gm"LITQUo0olJITGm" Qa;rrG)��G\) 

(@) ��LDGro 8rlJU t.51�UJ JB8:i(§�6U 

( FF) LO rrcg6lrrrr (§ cgGITrr 6"0TQ) �6m"lq-U frlq-8:i�GIT �L6'51 ®J GlT Q S:@jlJ �� {tjQ:> 
Which one of the following is the curing process of myasthenia gravis ? 
(a) · Irradiation of intercostal muscles
(b) Giving interferon

( c) Removal of thymus gland,
( d) Injecting monoclonal antibodies.

1 �. Q 6lJ ��rfl 85$1 m1 ro JD GID L Q u IDJ LD u5l 6m" 60lrrJD fD ro LO ro� ECG- t61 Q:> ____ m UJ � 
cg� rrfb WJ GlSl 8:iffi1 fD�. 

(�) T ��ro 

(@) R ��ro 

(�)P ��ro 

(r-r-) s ��Q) 

Ventricular repolarization causes ____ in ECG. 
(a) T wave
(c) R wave

(b) P wave
(d) S wave
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L.5lrrl61.j - � / SECTION - B. 

8x3;::24 

Note: Answer any eight questions. 

17. Q)frLDfrlT8;$)6b,- (Y)�GU @S1�6l!)LU ��frO'"��@L6ITT 6T@@cE.

Write the rst law of Lamarck with an example.

18. � rFiJ cEl ru @6ITT 61.1 6lD cE 6lD LU a: B= rr IT Jb � (Y) 6bT gll (Y) 19; cEl LU cg cE rr � cE GTfl 6nr Q u LU IT cE 6ID GIT 19;
@5 ,o5hJ t.5l @cE.

Name the three important English breeds of fowl.

19. �GLDrr6lDB=L...aLrrGLDLrf1 6T6ITT",(Dfr61) 6T6ITT6ITT ? ��6ITT ULU6m"cE6lD61T 6T(!:9�cE.

What is Haemocytometry ? Mention its uses.

20. "rurr�J]rrro �w@.(' LD!I)gllLD rurr@ili cErrruili - 6l.16lDQ'"LUgll.

Define life span and life expectancy.

21. (Y)@6IDL.O��,(D6nT - U@5���,(D6ITT - (g6l.lgllU@�@cE.

Totipotent and pluripotent - differentiate.

22. �ru rr BL.61 LU rr@Sl m LD ®�@61.119;&.L � !J5l@5 .o5l cEGTT LU rr 6lD 6l.l ?

What are the clinical manifestations of thalasemia?

23. �LUQ) �6ITT" Q�rr!b.o51LU GB=rucEGTfl6nT uruaruw J!>6ID'--(Y)6lD,(D ULU6ITT"Ufr@cE6lDGtT 6f@�cE.

Write the purposes for which transfected cells are used.

24. 
1�00-11t-50'"LD 1 

- 6l.16lDQ'"LUgll.

Define antisera. 

25. cEQ?JBIT8;cErrLLia:B=ru Gr6nr,IDrrru 6T6nr6ITT ?

What is called Black Water Fever ?

[ �Q]jUL..jcE / Turn over 
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26. Qa=rfl8i83LJULL �@r6Lj CofQJGLlffIDJ �6ITTLOWLOff8i8JL.IU(5\$)!!)� ?

How is the digested food assimilated ?

2 7. @ 6irr� t.Sl Lt.q..6irr Cof 6irr!I) ff Q) Cof 6irr6nl ? ��6irr GGLJ �ro� w Cof@� 83.

What is inhibitin ? Write its function. 

28. ��L8JffLIL.j @)�!!)6Lj GJ!)ffUJ8361T GJJDU(5\GLl�JDffiff6ITT ffiffl)"@rffiJffi�GTT Cof@�ffi.
Mention the reasons for Immunodeficiency Diseases.

l51rfl� - @ / SECTION - C 

6J � � � 1.0 (Y> 6irr !OJ @S1 6ITT rr a; ffi � a; @) @S1 � L w GTT1 . @S1 6ITT rr (of� 31-c!E@)
8>6trnllq-l.J LI IT 8> @S1 � LW GTf1 a; ffi 6Lj 11). ·I . 3x5=15

Answer any three questions including question no. 31 which is compulsory. 

2 9. JD LO� �LQ)l Q) �6ml LO ffiJc9lGTft 6m" (Y)8i$) W LJ ffiJ ffi1 �6ITT @S1 GTT 8:i@)ffi. 

Explain the important Role of Minerals in our body. 

30. L06ml�6mlQ) ffirr�uu(5)LD @ir�® �GLIIJ"Gru GJDrrWffiGTT u6Jr6l �ID! ®r6lLJL1 �@)ffi.

Write short notes on two viral diseases in man.

31. Gla=WQ)ff8jffi GJ!)ffUJ���L ffiffl.JL.j - LOfe�LOff6ITT GJ!)fflLI���L ffiffl.JL.j - GGLIIDJU®��ffi.
Glurr@fe���@) ��Lffirru�u (Y)(5\8i$) @S1(5)�Q) - @S1GLJif1.

Differentiate Active immunity from Passive immunity. Explain the Activation of
Adaptive immunity ..

32. LOIJ"LjU Glurr!}5lu51w6'5l6ITT (Y)Bi$)w��GLJLD u6Jr6l Cof@�ffi.

Write about the scope of Genetic Engineering.

33 uif1�rrLO��Q) @)GIJ"rrGLnrrGa=rrLD t.Sl!I)���u516irr (Y)8iffi1w uffiJ$)�6ITT Cof@�83. 

I 
r 

Write about the role of chromosomal aberrations in evolution . 

. ./ 
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t.5lrrl6l.j - r-r- / SECTION - D 

2x10=20 

Note: Answer any two questions. 

3 4. (Y)5ffi5 cfl !!) !]) �!])�GD 6L1 IT� LO IT!!)!]) LO <or &i 6LI IT IDJ JI>� L Q U IDJ £1 !]) � <or �U �� @S1 ffi ffi@)8:i. 
C LO w LO ffi 6LI IT a= � rfl llJ a; a; LO (Y) � ffi � � (Y) Q) U) (of &I 6LI IT IDl @ lU a; a; LI u ® £1 !D � 
<or �u ���LO 6lS1 m ffi(§8:i. 

Explain how gaseous exchange takes place at alveoli and explain the regulation of 
respiration by brain. 

3 5. @6l5TLI Q u (!9ffi8:i 2-IDJ LI Lj 8:iITT JI> ITffi uSl Gb 6D IT ffi IJLI t5) 8:iffilT a; Q a=UJ GD U {b) LO 6lS1 ����LI u !!) !]51 
�® 8:iL@�IJ <or@�8:i. 

Write � essay on "'Endocrine functions of gonadsf'. 

36. uGbCruIDJ qi,!!)!I)GD (Y)6Dffi18:iGITI� erd)wa=®WGD 6lS1�m6tJ8:im u!i)!]51 8:iL@�IJ GT@@8:i_.

Write an essay on the environmental impacts of energy sources.

3 7. a; ITGD JI>� L8:i Grfl GD a; IT 6m"LI u (5l LO u rr a; ta.rfl lLl IT LO !DID! LD � ru 1J oo C J5 rni.J a;Grrl 6m _ Q u UJ rr .g; � m 
® !]51 LI t5l ® 8:i. .g; rr GD JI>� L$ � m � � IT a;® LD u 1J 6tJ LD � � � LO LU !I) !D CJD IT UJ a; 6iT @ 1J 6m" (1) 
u !D !]51 @51 6lJ rfl .

Name the bacterial and viral diseases of cattle. Describe two non-contagious diseases 
of cattle in detail. 

-o O o-
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